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JE\SSHT 453 1 200 0 253 1 190 1
ELHT 220 1 101 -1 119 2 83 0
EZH] 134 1 57 0 77 1 60 2
K] 39 1 14 0 25 1 20 0
FARRHT 13 0 4 0 9 0 6 0
£ =] 89 0 39 0 50 0 26 0
R 50 0 7 0 43 0 7 0
FEFLLIE] 513 -3 262 2 251 1 291 1
ST 22 0 12 0 10 0 11 0
SEBHT 199 -1 85 0 114 -1 83 0
== 102 1 58 1 44 0 54 1
SECHT 231 3 118 2 113 1 116 3
ZNH] 152 2 70 1 82 1 67 2
P 491 4 262 -1 229 5 249 4
ZFHT 79 1 38 1 41 0 42 1
] 105 2 46 2 59 0 42 0
EEX] 158 1 77 0 81 1 91 0
—&T 0 0 0 0 0 0 0 0
NET 112 0 55 0 57 0 56 0
t&T 149 -1 74 1 75 0 58 1
\ET 86 0 37 0 49 0 40 0
NET 169 -1 75 1 94 0 35 0
+&T 248 0 93 0 155 0 124 0
AEaL) 360 0 156 1 204 1 182 2
EESET) 2,628 5| 1,204 4| 1,334 1| 1,088 -8
SRZRE] 3,416 7| 1,641 -10] 1,775 3[ 1,346 0
EN-L] 1,565 -5 767 -3 798 2 558 -1
EEE] 1,867 4 958 4 909 0 806 1
ZTERET 461 -7 209 3 252 -4 197 2
FRATE] 3,472 5| 1,744 5| 1,728 o| 1,536 3
LLAEE] 2,387 14 1,141 7 1,246 7 948 8




VEIERH] 1,981 7 956 4/ 1,025 3 615 -1
JNFaETE 4,847 -18| 2,407 -5 2,440 -13| 1,851 -2
J1IFa ] 2,146 -10| 1,045 -4/ 1,101 -6 827 -3
EBZRHE] 9,436 -5| 4,624 -4/ 4,812 -1 3,543 3
=5H] 3,851 7| 1,855 5 1,996 2| 1,455 1
[ ERET 1,085 -12 548 -4 537 -8 453 0
EREFH]ER — 2,548 2| 1,215 2| 1,333 0 865 7
EREFHTER 73 1,810 8 861 5 949 3 638 0
EREFHEI P 7> 595 8 296 6 299 2 210 3
Fr 7K H] 5,598 11 2,641 7| 2,957 4 1,885 5
B AT 171 0 166 0 5 0 163 0
SERH] 30 0 18 0 12 0 20 0
=EIRE—TH 402 -3 204 -2 198 -1 177 -3
EtTRE”TH 327 -2 143 -2 184 0 144 0
E1TRE=TH 0 0 0 0 0 0 0 0
E1TREUTH 0 0 0 0 0 0 0 0
ETREATH 245 -1 114 1 131 -2 76 -1
FES 0 0 0 0 0 0 0 0
TEE—TH 418 -8 192 -4 226 -4 181 -4
TEEI"TH 744 -1 345 0 399 -1 347 -1
TEE=TH 325 -1 159 0 166 -1 141 -1
R —TH 496 0 228 0 268 0 219 0
e = 711 -4 335 -1 376 -3 341 0
IRERET=TH 492 3 249 2 243 1 231 0
EMHFRET—T B 319 -1 142 -1 177 0 146 0
EMAFRET — T B 525 2 249 1 276 1 246 2
LB —TH 191 2 82 0 109 2 94 1
JEFLET =T H 390 -2 175 -1 215 -1 172 -2
PR —TH 292 -1 154 0 138 -1 145 0
FEAE T H 481 2 251 1 230 1 250 2
FZH—TH 124 1 61 -1 63 2 56 0
FZHZTH 338 -6 158 0 180 -6 157 -1
[ E it 329 -4 149 -2 180 -2 224 -1
FEE—T B 143 -6 76 -1 67 -5 72 -2
IFEE] — T B 280 -3 122 0 158 -3 104 -2
HFRE—TH 454 0 210 0 244 0 172 0
TR =T B 382 73 180 34 202 39 153 29
TR =T 8 502 -3 237 1 265 -4 221 -1
FAFET T B 411 0 180 0 231 0 168 0
AR TH 632 -3 278 0 354 -3 231 0
¥rRE—TH 224 0 126 1 98 -1 107 0
FUEEI”TH 380 4 218 2 162 2 216 1
AIEEE—TH 471 1 226 0 245 1 221 0




AEEAI"TH 337 4 159 2 178 2 131 1
1EEE—TH 144 2 67 2 77 0 69 1
BEEI " TH 644 -5 298 -2 346 -3 289 -1
BEEI=TH 531 -9 267 -1 264 -8 219 -3
IEEEUT H 239 -1 106 -1 133 0 101 0
EEEATH 716 1 341 -1 375 2 352 0
Kim#]—TH 278 0 130 0 148 0 112 0
XKim] —TH 231 3 116 1 115 2 92 1
AFH—TH 138 -1 66 0 72 -1 68 0
AFHZTH 8 0 4 0 4 0 4 0
ARFH=TH 183 1 93 0 90 1 86 -1
TasETFE—TH 637 1 296 0 341 1 230 1
TEREI T H 330 0 153 0 177 0 121 0
TasEIFE=TH 338 12 179 6 159 6 135 3
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TasETFER T H 681 -7 332 -3 349 -4 268 -1
TasETFE N T H 464 2 234 0 230 2 205 0
TEsETFEETH 667 3 329 2 338 1 308 3
VAN S 654 0 317 1 337 -1 273 1
THREER—TH 1,435 -4 692 0 743 -4 588 -3
THREERTTH 414 7 209 2 205 5 169 2
THREER=TH 670 3 315 2 355 1 273 2
TARETRMNTH 1,171 -5 562 -2 609 -3 468 -1
THRERATH 1,096 -1 621 -1 475 0 604 -1
TARHETRATH 573 -7 290 -3 283 -4 324 -3
TEERETH 1,473 12 740 -5 733 -7 611 -5
TESETERA\TH 1,285 6 589 0 696 6 587 -1
TEERNATH 432 1 207 1 225 0 142 1
TasETIE—TH 86 1 52 1 34 0 67 0
TEsETIE=TH 86 -1 53 -1 33 0 64 0
4N &t 81,540 20 39,626 19| 41,914 1] 33,112 32
AEHTE 122 0 50 0 72 0 71 0
AEHTA 118 0 57 0 61 0 67 0
AEHTRA 13 0 4 0 9 0 10 0
A EH]/)\BR 122 1 56 0 66 1 56 0
A EHTAH 11 0 6 0 5 0 7 0
AEH{EH 71 0 30 0 41 0 31 0
AEH IR 10 0 5 0 5 0 7 0
AKEHTE R 8 0 2 0 6 0 5 0
45 13 0 5 0 8 0 9 0
AEHXEET 488 1 215 0 273 1 263 0
IN=TRvES) 32 0 16 0 16 0 20 0
TN RO 41 -1 17 -1 24 0 27 0




INS 024 39 0 16 0 23 0 22 0
[1- SHTER S 34 -1 15 -1 19 0 22 -1
INS N 67 -2 34 -1 33 -1 35 -2
IN= e 33 0 17 0 16 0 17 0
IN= A 29 0 18 0 11 0 17 0
[LERNFS 45 0 22 0 23 0 22 0
FSH] 40 0 22 0 18 0 26 0
[ St X EEET 360 -4 177 -3 183 -1 208 -3
SUEfEET 848 -3 392 -3 456 0 471 -3
TEIRETEE 1,393 0 672 1 721 -1 479 1
TEERET AT 744 -10 323 -10 421 0 236 -8
FZ X [ FH ER 1,253 2 607 3 646 -1 407 1
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TR X EEET 10,975 -7 5,267 -4 5,708 -3 3,709 -5
ERILIE]_F3REESF 2,092 3 996 -3 1,096 6 670 7
ERILIE] AT 2,576 7| 1,279 1 1,297 6 882 2
ERILLIETER/N 1| 2,095 -2| 1,049 -3 1,046 1 782 -2
ERLLETPaRT 1,463 5 715 4 748 1 494 3
LS 1,131 2 562 2 569 0 390 3
ERLLIET) 1R 2,310 8 1,121 3] 1,189 5 811 4
ERILBTER T 5,451 -15| 2,628 -5 2,823 -10 1,939 -6
BRI X EEET 17,118 8| 8,350 -1 8,768 9] 5,968 11
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